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Polar Coordinates    vs.   Rectangular Coordinates 

 
-Based off ________ and _________    - Based off ___ and ___. 

 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 
             
             
             
             
             
             
             
          
 
 
 
 
 
 
 
 
 
 
 
 
 *  “r” is ____________ when you go the same ___ of 

units in the _______________ direction 
 

1.  Sketch the Polar Coordinates (3, 135𝑜), (2, 3300),     
 (7, 50𝑜), (7, 410𝑜), (−7, 50𝑜), (7, 230𝑜) on the same                             
polar plane.  
 

2.  Sketch the Polar Coordinates  

(2,
𝜋

6
) , (−2,

𝜋

6
) , (2,

7𝜋

6
) (2, 40𝑜), (−2, 400), (2, 220𝑜)n 

the same polar plane.  
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3.  Give 2 other pairs of polar coordinates for given point.  (*FLIP ___, add or subtract _____) 

a) (5, 60𝑜)    b) (−3, 110𝑜)   c) (4,
𝜋

2
) 

 
 
 
 
 
 
 
 
Polar and Rectangular Conversions 
 
 
   
   
 
 
 
 
 
 
 
 
5.  Give polar coordinates for each point. 

a) (−4, −4), 𝜃 in degrees.    b) (−√3, 3), 𝜃 in radians 

 
 
 
 
 
 
 
 
 
 
 
6.  Given rectangular coordinates for each point (EXACT when possible).  
a) (6, −30𝑜)       b) (2, 3) 
 
 
 
 
 
 
 

To go from POLAR                              Rectangular: Given (𝑟, 𝜃) 

 

 

 

To go from Rectangular                             Polar: Given (x,y) 
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7. Sketch  𝑟 = 2 cos 𝜃  

𝜃                  

  r                  

 
 
      
 

 

 

 

 

 

 

 

 

 

 

8.  Try 𝑟 = 2 sin 2𝜃 

𝜃                  

  r                  

             

              

9.  Find a rectangular equation: (Here’s the GOAL:  _______ in terms of ___ and ___ with NO fractional 

exponents). 

a) 𝑟 = 2 sin 2𝜃                     b) 𝑟 = cos 𝜃                                       c) 𝑟 = 1 + cos 𝜃  

    

 

 

 

 

 

 

Graph #7 Graph #8 
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Spiral of Archimedes: r a          Hyperbolic spiral:  
1

r


  


